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National Clean Air Programme has been launched

by the Central Government in the year
(2) 2018 {(b) 2017
{c) 2020 (d) 2019

l':I"he rulers of which of the follawing dynasty have
€en called as "Shriparvatiya' in Puranas 7

(3) Vakalakas {b} Ikshwvakus

(c) Shaks {d) Kharvelas

Which of the following Committees recommended
3 poverty line based an nutrilianal requiremants
exclusively 7

(a) Alagh Committes

{b) Lakdawala Committes

{c} Tendulkar Committee

{(d) Rangaraian Committee

The afficial 'Agronamai dunng Mauryan age was
related with which of the fallowing field 7

(a) Weight and measurement

(b} Administrative management

(¢) Construction of roads

(d) Revenue managament

Which of the fallowing indicators is NOT used to
calculate Human Development Index (HDI) 7
{2} Life Expectancy

{b) Educaticn

{c) Per Capita Income

(d} Social Ineguality

Match List — I with List— Il and select the correct
answer using the codes given below the lists :

List— 1| List =1l
{Mahajanpadas) (Capitals)
A Matsya 1. Mathura
B. Kuru 2. Polan
C. Sursena 3. Virat Nagar
D Asmak 4  Indraprastha
Codes :

A B C D
(a) 4 2 1 3
fby 3 1 4 2
(c} 3 4 1 2
(d} 2 3 4 1

-2-

(b) A HH

(c) wrf fmn

(d) TR mEREA

P iR  # -1
{Eﬂ_fl.:ﬂ'ﬁ'.} T # mfferm
(a) Sft=r w=I

(b) Fnen

{e) ufa =afad A4

(d) "o SFEEEl

1= gl — 11 @ g if e i 5

g FyeTE JEH®
i Tamm e B 7

=
9 ot 1 2 B AE I G :
- | i ot
(W) (FreT)
A. T 1, 7@
B. % 2,
C. IEE 3. fermTm
D. 57 4. T=9H4
e
A B C D

() 4 2 1 3

(b) 3 i 4 2

{c) 3 4 1 2

(@ 2 3 4 1
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7. Theidea of 'Cyityra
(@) Oscar Lawis

(c) Aashish Bose

Poverty' was given by
{b) Gunnar Myrga
(d) Amanya gep

about Cholas than their predecessorg
Reason (R) . The Chola rulers 2dopted the

practice of having in scription
S writte
of temples giving a hj #idaly

storical narrat 1
ekl rative of their
Select the correct answaear f
rom the ¢
T odes given
Codes :

(a) Both (A) and (R) ara true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) Is not the
carrect explanation of {A)
(c) (A) is true but (R) js false

(d) (A) is false but (R) is true

9. During the mid 80's decade of twentieth century,
the negative aspects of development were
discussed at large. Which one among the
following was NOT such important 7
() Degradation of natural resources
{b) Environment pollution
(c) Politics and Development
(d) Displacement and Rehabilitation of masses

10.  Which of the following Indian Archaeclogists first
visited 'Bhimbetka Caves'and discovered prehistoric
significance of its rock paintings 7
{a) Madho Swarocop Vatsa
{b) H.D. Sankalla
{e) V.S, Wakankar

(d) V.N. Mishra

No. of cities in U.P. which are covered under the
‘Smart City' Scheme
{a) 10

11.
(b) 12

(c) 15 (d) 18

7. e W mesty w1 famw v e
{a) == 28 g {b‘]’jﬂ'ﬁﬁ:{‘?ﬁﬂ'ﬂ
(e} sy ove g (dy ¥ H59 W

B, 3 71 wum ol w8, Paed o W wue (A) T

ZEL W (R) FE o R

e (A) : gt e & g # T g e

H) amE srfirs F=E R

Tl w1 e T frm o g e

& Tt o fad o &

e ol e F H HE I w1 = A

=

(a) () 3 (R) 21 = & 3fR (R), (A) A1 &E
=TT O

(b) (A) 3i (R)ZH & & oo (R), (A) 1 FE
ST FE A R

(c) (A) 573 2 7o (R) e B

(d) (A) e & T (R) W 2

9. el g & 3wl % cre & W faEE % TS
st foree & <t o6 TR | Prefefiee § & FH-E
wh IAH AEeEqUl AE @7
(@) STRfaE FETYA]

(b) T W
(c) Tty vE famm
(d) SEmEg =1 e vd Em

10, fFrefrfan § @ fre T qoasEE 3 OEel
. s e W T ol TEe fefe w

witfrefas 7 St @ 1

(a) ATY F=FY T

(b) w=. ¥, Herferm
(c) ot.uH. ST
(d) &1.w. e
1. 37 5T W IE S o R dw R s
(a) 10 (B) 12
(c) 15 (d) 18
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and seloct thi correct
n helow the lists -
List=1

[UTIStntn of india)

1. Uttar pradesh

5 Jammu and K

5, Haryana

4. Gujarat

| with List= i

i gt =
.2 match Li odes give

answer using the
List—1I

(Harappan Site)

A Bald

B. Manda

. Padn

. Hulas

ashmir

Codes :
A
(a) K
(by 2
(c) £
(@) 3

B3 £ a3 @
B 4 ]

The discussion on 'Sustanable Developme nt;.:"ll__ft
ctarted after submitting @ report on environ
to the United Nation in 1g87. That report was

{a) First Report on Climate Change

13

{b) Our Comman Future
(c) Second Report un Cli
(d) Fifth Assessment Report

male Change

Consider the following statements and selectthe
correct answer using the codes given below
1. The Sun temple of sultan is mentioned
by Hiuen Tsang, Abuzaiyid. Al-Masudi and
Alberuni.
2. The pilgrimage to Sambapur was
associated with Sun worship.
Codes :
(&) Only 1 is correct
{b) Only 2 is correct
{c) Both 1 and 2 are correch
{d) MNeither 1 nor 2 is carrect

14

The Atal Innovation Mission (AIM) is a flagship
imtiative set up by

{a) Mimistry of Human Resource Development
{B) MITI Aayng

{¢) Ministry of Social Justice and Impowerment
{d) Ministry of Science and Technology

15.

Who of the following was sent as representative of
labourers by Indian Government in the Washington
Summitof |.L.Q. in the year 1918 7

{a) V.P. Viadia (b) N.M. Joshi

{c) C.F. Andrews {d) Joseph Baptista

12 HA
Bic]

13,

14

15

16.

A et — 1 e o, e g
N imm |
-

) (FE VG W & )

AT 1. I %ET
it 2. wh|E Y
T 3. wlirawm

D. EH 4. TAUA

T2

(a)
(b)
ic)
(d})

Eﬂfﬂ;‘iﬂ?ﬁﬁgﬁmﬁw’ W T
BILEE ﬁqqﬁ%m*tmﬁuﬁm-(q@ﬁﬁ
BAETHUZ ) g =] 3 gl ufades o

{3} Feary fass W gEe ufEes

(b) = Fiws FET

(c) Ty witEd T gEn wfrden

(d) i gegrea afide

Freferfian sl 91 fomm fifie qen A A ™
e H | 3w gf

1. eTE F Ad A = IRas gre, s,

SewEEl Y FHedwAt 3

2. FE ATAteEE JATE § weEia 9@ |

E T8
(a) e 1 AR R

(b) == 2 98 &

{c) 1 ¥ 221 wEl §
dyad1aF 208 2

area T fvem (s o) few T 8 wpa
TR 7

(a) AFa HaeA s daew

(b} i R

() AEIAS =8 Ud s g

(d) 59 U8 AT e

W FTER 30 1916 § FE.UA.I. +F A
S H AAg # Wy & w9 7 Feffen o
A forl S T @ 7

{a) =t e
(c) Ht.oh. g

=
fed
i -1
=

-

0

AT RCSEER-
poB w0
Bowas =0
PP S =

(b) WH.UH. =t
{d) ARE TR
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18,

19.

20.

21.
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The book ‘Silent spp
ts " i
set the 1o PAng’ published |n 198 4
.
¥N Merchant
(c) Rache| ta) Sl Ma
Carson (d) Rajgopalan
With reference ¢
- 1748" w 0 the Treaty of "Aix-la-Ch
‘?1“’%'31 3 hich of the following sta!ernenlsaigg::
- 1ne | Camatic War was
J ended.
Eél:gtihinghsh got back t‘n.lladrlr.ag..d
Pt correct answer using the codes given
Codes :
{a) 1 only
(b} 2 only
(c; Both 1 and 2 {d) Neither 1 norz
Which one among the fallowingis NOT cove
Integrated Child D‘E-‘”E’fﬂﬂnwnn% ngran‘ma?d o
(a} Supplementary Nutrition
{b}) Immunization
[0’1 Nutrition and Health Education
(d) Family Planning
Match List‘— | with List — Il and select the correct
answer using the codes given below the lists -
List -1 List =1l
A Indian Arm Act 1. 1876
B. Royal Title Act 2. 1878
C. Indian High Court Act 3. 1869
D. Indian Divorce Act 41861
Codes :
A B [ & D
(a) 2 3 1 4
(b) 3 1 2 4
(c) 1 2 3 4
@ 2 1 4 3
Match List — | with List — 1l and select the correct
answer using the codes given below the lists :
List —1 List-1l
A. Indus Valley Civilization 1. Pastoral
B. Later Vedic Society 2. Land Lordism
C. Rigvedic Society 3. Agrarian
D. Medieval Period 4. Urban
Codes :
A B C D
(a) 4 2 3 1
)2 1 4 3
(c) 3 4 1 2
(d) 4 3 1 2

18.

19

20.

21.

17. = mszﬁnmﬁmgﬁ-uﬁ-msaaﬁﬁmﬂﬁﬁ

35 el e w0 i e, 6 S
(a) Fieha wie (b) hret
(o) To= A {d)

‘iFm-w-miE —~ 1748" #1 wfg & @ A
Frafafig s § @ S9-m/2 wf /3 7
1, wem wlew o T T |
2.#&@?&%%9:%%'

e |

dr fed ma) e | |8 I

FE:

(a) et 1 (b) haet 2

(¢) 1 3fft 2 2 (d)y ad 19 # 2

T are fase OREEE % e Feteted
i § w71 wh Ao 46 8 7

(a) T
(b} Frrre
(c) dro we e T
(d) uftEm Feea
Tﬂqiaﬁ@-lqagﬂ%ﬂmwﬁﬁ"*
Hi9 e M w2 | T I 9

- | -l
A W vEE S Ee 1. 1876
B, 7t 92 wfufau 2. 1878

C. WA F== =Iaed HAakme 3. 1869
D. e e =gy sfufm 4. 1861

&e
A B¢ D
@ 2 3 1 4
(b) 3 1 2 4
{c) 1 2 3 4
(d) 2 1 4 3
= — 1 e — 1 @ e Fif wn gRe %
43 A T F2 A 7 I
T - | -0
A. Tay ardt wemn 1. AR
B, 3w AeH T 2. Wit
C. A iesH 3. 55
D. AEY = 4. A
e
A B C D
(ay4 2 3 A
2 1 4 3
()3 4 1 2
@4 3 1 2



23

24

25.

26.

22
l'?
23 \Who had merged Sikkim in indi3
{a) Lard Hashngs
(b) Lord \Wilkam Bentinck
{e) Lard Cialhousie
{d) Lord Auckland -
Kanpur and Lucknow cilies G”.:I.a e year
citles a5 per the census ofin .
{a) 1951 and 1861 :‘ESG&CIVErf
fb) 1961 and 1971 respe:lweih'
(e} 1871 and 1881 respectively
(d) 1881 and 1991 respectively or | 24
did N -
Whe among the following Fﬂdﬁ'gf;:nd Table
participaled In the Secon
Conference 7
{(a] MK Gaﬂdl_'g
b Sargjini Naidu
EEJ} Pl Wfar:lan Mohan Malviya
(d) Dr Rajendra Prasad 2| 25
corre ;
Match List = | with List - il and serlgil ::: g
answer using the codes gwe;jll:f_ .
List -1
A Jajmani 1 Morth India
B. Bara Balule 2 Karnalaka
C Mirasi 3 Maharashlra
D. Adade 4 Tamil Nadu
Codes :
A B C D
(@1 2 3 4
(b) 1 3 2 4
)1 4 2 3
1 3 4 2
Match List — | with List = 1| and select the t:_::-rrect 26,
answer using the codes given below the lists '
List=1 List =1l
(Book) (Writer)
A. The Story of My 1. Surendranath
Deportation Banerjee
B. Gita Rahasya 2. Maulana Abul
Kalam Azad
C. ANation in Making 3, Lala Lajpat Rai
D. India Wins Freedom 4. Bal Gangadhar
Tilak
Codes :
A C D
(a) 3 4 1 2
(o) 4 2 1 3
9 4 3 2 1

;Tﬂe Vision

ferfer w1 AT H e

iz) FI'T_"; el

(b) #T=
(c) 7S ZEETH

(d) T3 HTFATE

I T FFEL v g

i ;ﬁ“%
(a) FueT: 1951 -,ﬁ71951é.a=; : W |

(b) FHI: 1681 1971 &
{c) 3RE7T: 1971 37 1981 §
() F: 1881 3 1gg4 5

Frferfam T 4 2 .
w1 i form a7 qﬁf’*"‘mm
() 9.5, it |
{b}%ﬁﬁm@
(c) 9= w23 HiEa a7
O e T
1~ | =] Hq - 11 & mifey
ngm“""ﬁaff“mw
=E |
FRaH = -
A o]
g 2
¢ fomfa -
2. Tk 4 i
2 LRSS
A B C D
(a) 1 2 3 4
oyt 3.2 a
':Clil 4 2 3
(d) 1 3 4 2
b S G- e —
:ﬁ%ﬁqm%ﬂﬁﬂmﬁ: Wﬁl
it - | i
(qFeR) (rum)
A 7T i et
HTg it q
i e 2. e S Fem
HTETR
Culm@ifn 3 e evwm
D. 1vzm ffm fren 4. @@ T e
e
A B Cc D
(@) 3 4 1 2
b) 4 2 1 3
) 2 4 1 3
(@ 4 3 2 1
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28.

29.

3.
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The concept of ‘Marginal Man’ was propounded by

(a) Robert E. Park {b) Robert Redfield

{c) Louis Wirth (d} Louis Dumont

Who among the fallowing established a modem
armoury in Dindigal Mysore in 1755 7

(a) Nanjraj

(b) Haider Ali

{c) Devraj

(d) Chikka Krishnaraj

Which one of the following is NOT a major cause
of Wildlife Extinction 7

(a) Loss of natural habitat

{b) To make fire in the forest

(c) lllegal commercial trade of wildlife

(d) Fasl pace of population growth

Given below are twa statements, one is labelled
as Assertion (A) and the other as Reason (R) :
Assertion (A) | The British Government
introduced different land revenue system in
different part of India.

Reason (R) : It led to create different classes in
Indian peasantry.

Select the correct answer from the codes given
below.

Codes :
(a) Both (A) and (R) are true and (R) is the

correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

In August, 2020 Railway Museum in India was
dedicated to the nation at which of the following

places 7

{a) Hubballi (b) Mysore

{c) Silvasa (d) Chittaranjan

27.

28

29

3.

e i sy (e i)
uferrgs fem @
(a) T2 §. ok
(c) ¢ 7
Prerffian & @ @ 1755 # fefome gy 7 0
mghmmiﬁ'rmﬁaﬁ?

{a) T

(b) #et 3=t

(c) gaaa

(d) femrant o

s & # 21981 T SR & faegera
&1 W FOW AL 7

(a) wfas AEE B T FE

(b) STel # T F A

(c) Faarford) &1 3T T =N

(d) T 6 A gfE

(b) Taé {ZhrEe
(d) 7§ 32

112 2 wun Tz 72, Fod v w1 e (A) I

7T %1 A (R) FE TR

e (A) : fafer wieT 3 W % a9eE- e

# y-rrea 1 e e S A A A |

0T (R) : $88 Wi fRE # s - 1 =

™ |

19 B2 7 w2 B @ wE I g |

F:

(a) (A) 3 (R) SH1 =@ & 3t (R), (A) 1 =E
ST R

(b) (A) ¥R (R) <1 & F 9T (R), (A) S @
T TE A A

(c) (A) & R T (R) e 2

(d) (A) e B T (R) WL @

A 1 3, 2020 § Pofetes =l A | s
T T WUETed g & |ufid fea w7

(a) g==t (b) B
(c) fomamm (d) Fawiam
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them in
arrange
32, Consider the fallowing text and

chronological order
1. Fatawa-i- Jahandar

2. Prithviraja-Raso
3. Kitab-ul-Hind
4, Tabagat-i-Nasiri

iven
e Gﬂde5 qQ
Select the correct answer th

from

pecame the first Arab

33. Which among the following o Uiy, 20207

Nation to launch the Mars Miss
(2) Saudi Arabia
(b) Kuwait
{e) United Arab Emirates
(d) Qatar

34. Who was the ruler of Golkonda when Aurangzeb
seized the fort of Golkonda in 1687 7
{a) Abul Hasan Qutb Shah
(b) Sikandar Adil Shah
(€) Ali Adil Shah 1I
(d) Shayasta Khan

35. Which of the following neighbouring countries of
India has banned free internet for social media

in July, 2020 ?
(a) Nepal (b) Bhutan
(¢) Myanmar (d) Bangladesh

Which of the following statement/s is/are correct 7
1. Akbar tried to fix the age of marriage for
boys and girls.

2. Akbar gave freedom to girls to marry at their
own will and not under parental pressure.
Select the correct answer using the codes given

below.

Codes :

(a) Only 1

(c) Both 1 and 2

(b) Only 2
(d) Neither 1 nor 2

33

34.

35.

36.

e, 2020 @ FEfEREd 4 8§ Fs-a iy
1 wargw 1 ATCT RS 30 T 7ay 7
(a) AFEl A

(b) Taa
(c) T T HHA

(d) =l

1Ea?ﬁmmﬁﬁﬁﬁrﬁa§@m“mﬁ
foran, 3| &Y AETEUS B AHEG FF w0y 7

(a) IS 7 Fd9 TR

(b) et wrfest 28

(c) ¥t sarfesr g I

(d) FITEaT W

i ASTEl <31 5 & e e, 2020
AR 7
(a) ar=
(¢) =R

(b) Wgm
(d) =rerem

bt Gl b G
I LS,
ﬁmﬁﬁﬁﬂmﬁmm,ﬁWﬁm
2. I 3 SR W St e @
=4 <l =1 A faaw w0 R o ﬁaﬁa?n

L T4
S (b) 3 2



List =1 List =1l
(Officer) (Assign Duty)
A. Diwan-i-Tan 1. Look after the office
B. Mustarfi 2. Maintained a proper
hist of main events
and firmans
C. Mushnf 3. Look afler the Jagir
and Salanes
D. Vakianvis 4. Examine the income-
expendilure of Stale
Codes :
A B c D
(a) 2 &4 1 3
By 3 & 1
' 3 2 4
(d) 4 1 2 3
39. The Uttar Pradesh Cabinet has approved on 29"
July, 2020 to eslablish a National Law University at
which of the following cities ?
:‘aj j{anpur {h} Lucknow
(c) Gorakhpur (d) Prayagraj
40. Which of the following is NOT comectly matched ?
(a) Shaikh Moinuddin Chishti - Ajmer
(b) Shaikh Burhanuddin
Gharib - Daulatabad
(¢) Shaikh Mohammad
Hussaini - Gulbarga
Multan

41,

;Tﬂe Vision

37. Which of the following statement's about ‘India

Ideas Summit, 2020 isiare correc) 7

1 Itwas orgamsed b
y US = India Busi
5 ?::nlfnr virtually on 22™M July. 2020 il
i md.al' eme of the Summit was ‘Empowenng

Selecl

oo the correct answer from the codes given
Codes :

(@) 1 only {b) 2only

{€) Both 1 and 2 {d) Meither 1 nor 2

38 Match List - I with List - |1 and select the correct
answer using the codes given below Ihe lists

(d) Shaikh Nizamuddin Auliya —

Indian Minister of Youth Affairs and Sports
announced on 25 July, 2020 thatin 2021 fourth
'Khelo India Youth Games' will be hosted Dy
(a) Haryana (b) Uttar Pradesh

ar

38

(c) Karnataka (d) Maharashtra

39.

41,

ez s ufig, 2020 % weeu i et
A [l 1R B WA R
1. 2R e - s i g A
22 gend, 2020 syrnfam Fwan
2. sem famm (ddm) a1 wRfEET 9i
A e iy e & A T i
T
{a) Fa= 1
(c) 1 2 3
Hh - | B g - 1@ e ‘Eﬁlh'lﬁ'{ﬁfﬂm"%
414 fei ma e B wh I H IO
- | -1
(arfirmrit) (Fafpn wza)
A fam-n-ga 1. wﬂaﬂmﬁmm_&r}[
B gEATH 2. wq@ Az 4 FEHE R
Hiaag w1
C. gafrs 3. Ff A Ta4 & G
D. affardg

(b) A 2
(@ 3dM13A2

4 T Hl M-S0 W
fafiao w1

F:

(@)
(b)
(c)
(d)

T wem Afamugd 3 29 e, 2020 =1 Fosfafm
il H @ frmd o fafu famafaaen & o
&1 s fEm e 7
(a) T

() TEH
fafafin i 8 #13-w of gafea & 2 ¢
(a) 9@ adm favedt T
(b) ¥@ qEAEA TR QAT
(c) Tr@ Higmre g8
(d) %@ ey shfeen e

i % g FriEn i @ W 3 26 9, 2020
1 arevn fe 2 f6 ad 2021 1 < wWA FEW
gy T’ o dwrar farn SR

(@) ghamn gm | (b) I WA W

(c) FeH gr (d) TS, T

& o= W P
- g & B D
R - =0
s & M O

(b) FEAH
(d) TETTTR
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Is was
od cANAE_ .7
S
hr
ghahab NS
nahr--Ad@
tball Club

o fealure

42, \Which of the foliowing |
constructed by restonn
Shah 7
{a) Shekhnu-Ni
{c) Nahr-i-Bihisht

(b}

{d)
Which of the follewing |ndian :::ub
became country's first 2ver fﬂﬂ‘ba:_ﬁ g
on NASDAQ billboards In New YO
on 28 Juty, 2020 7

(a) East Bengal

{b) Churchill Brothers

{c) Mahan Bagan

(d) Bengaluru Football Club

was the author of the

43.

Who among the following
book ‘Kitab-i-Nauras’ 7
{a} |brahim Adil Shah Il
(b) Ali Adil Shah
{c) Quli Qutab Shah
{d) Akbarll
The first ‘Kisan Rail of India started ils journey on
gi" ﬂigust. Ei:lnzgiemeen which of the fallowing
two stations 7
(a) Ghaziabad and Howra
(b) Devlali (Maharashtra) a
(c) Nasik and New Delhi
(d) Nasik and Ahmedabad

45,

h
nd Danapur (Bihar)

In which of the following districts of U.P. a major
solar power plant was established in collaboration

with France in 2018 7

46.

(a) Agra (b) Ballia
(c) Deoria (d) Mirzapur
47 Which of the following is NOT correctly matched ?
{Summit) (Place)
(a) EastAsia Summit, 2020 - Singapore
(b) G-20 Summit, 2019 - Osaka
(c) G-7 Summit, 2019 — Biarritz
(d) East Asia Summit, 2019 - Bangkok

48. How many more ‘Ramsar Sites' were added to
Uttar Pradesh in January, 2020 ?
(a) 3 (b) 6

i e HEE TR w5
42. mﬁmﬂﬁﬁ"{?ﬁﬂﬁm?
S~ (D) FET= HRL
E: -0 farfd (d) FE-T-3m
Eﬁmﬁﬂm—mﬂlﬁﬁﬂ&?ﬁmm
43 x ﬁmwm(msmq}%'m
q-{zg:ia‘li, 2020 aﬁmmmmm
me 7
,-lﬂv_,—.‘igiimﬁ
(b) =fefe 2
(c) TiTER =T

45 e 1 TEet R o Prefafen 6 2 2
¥ o= 8 30T, 2020 = 3of Ay o7
(@) mitsaraT 3 FEE
(b) Zaeell (HETT=) F grg (faww)
(c) e @it 7§ feg
(d) fas 3T FEHeETE

46, I WeW = Frofefes e | @ feedt 20180 %
F WEd § UF 954 €1 Fol waw =) e

™R 7

(&) s (b) =ferm

(c) Zfen (d) Tt

47. Frafafes 8 | ¥F-m v gufes @i 7
() (e

(a) $&2 uf¥rn weE, 2020 - famm
(b) =N-20 w=m, 2019 ~ R
(c) -7 A=, 2019 B DT
(d) §= ofirn aeem, 2018~ d@

48. WE0 20201, 3o vew § farad ol w=i w1 T
Hse’ ¥ e fea w7
(a) 3 (0) 6
(c) 9 (d) 12

(c) 9 (d) 12

-10-



43,

50.

51,

53.

55.

- Which ofthe followin

;Tﬂe Vision

In which of the following States of India tha
first-ever E-Lok Adalat was starled during the
COVIC-19 period 7
(a) Uttar Pradesh

(b} Maharashtra
{e) Chhattisgarh

(d} Bihar

Which of the following tribes is NOT the native to the
Andaman and Nicobar Islands of India 7

{8) Halchu (b} Rengma

(c) Onge (d) Shompen

With reference tp the detailed report of Tiger
Census 2013 released by Government of India
in July 2020, which of the following Statement{s}
is/are correct 7

1. India has 70% of tota| global tiger's
pSpulation,

2. Nearly 30% of Indja's tigers live outside
tiger reserva,

Select the correct answer from the codes given
below.

Codes :
[ag 1 ﬂn!jy b} 2 only
{c) 1and 2 both id Neither 1 nor 2

g riversisa Tran s-Himalayan

nver 7
(a) Jhelum {b) Sutlej
{c) Ganga (d) Ravi

Which among the following hosted ‘Global
Vaccine Summit' on 4t June, 2020 7

() United Kingdom

(b) United States of America

(c) India

(d) China

Which of the following is NOT carrectly matched 7

(Tribes) (Location)
(a) Angamis —  Nagaland
(b) Birhars = Jharkhand
(e} Khas - Arunachal Pradesh
(d) Todas = Tamil Nadu
‘Sarthak' launched in August 2020 by Ministry of

Defence, Government of India relates to which
of the following 2

{a) Smart Bomb

(b) Rocket Launcher

(c) Offshore Patrol Vesse!

(d) Light Combat Aircraft

49,

50

51

52,

53,

a5,

-11-

v & Prefeftan ot § & fred wifds-19 sEfu
o weef) A {-wie g W w4 7

(a) 391 WEm (b) HERTE

(c) WritETR (d) Fareme

Frferfiaa sernfadi @ 9 #-31 Wi & sveaH
3t frram 9 wqE A e Femh # 2 2

(a) BT (b) ¥

(c) =3 (d)

M TN G/ F=115 2020 H =] # noen 2018

ot wrt fercm wfeee & =i i Profarfas saa/

&l d | -8 w 2/E g 3

1. yirA ¥ fava A1 5 T R 3= = 70%

2. VA & TN 30% =TS, WY 3Rt &
A TEA |

19 fed e @ @ I wf

HE:

(a) Fa= (b) w2

(c) 1 3 22 (@ I 17& 2
Prerfrfian § & =h-m w7 ferea-TR
(gra-fmmem) 785 & 7

(a) 3em (b) Eee

(c) Tm (d) T

Frerferfin & femy eites Ao odies
4 97, 2020 &1 THETA A 7

(a) 7T32E frrem

(b) T ey 3wt

(c) Wi

(d) ==

ﬁmﬁmﬁﬁm-mwﬂgﬁﬁa?ﬁi ?
(wranfa) (satef)

(a) 3 - AU

(b) feEn - FTEvE

(c) &R - HEUTES e

{d) Zr=1 - At

T W1y, M HUHI g1 30T 2020 1 wroey frn

TRIT el ﬁm%f@aﬁﬁﬁq@lmﬁm% ?

(a) =rd &g

(b) Tz s

(c) 3adm nodt s

(d) we e famm



; The Visior

cormecl
ist = | with List=1l and select the

EE. :ﬂﬁs:hﬂ'l-using the codes given below the lisls:
List—1 List-1l
{Laks) (Location)
A. Sala Lake 1. Arunachal Pradesh
B. Badkhal Lake 2. Haryana
C. Lakiak Lake 3. Manipur
0. Kaliveli Lake 4. Tamil Nadu
Codes :
A B [ D
{a) 1 2 3 4
{b) 2 i i 4
e} 1 3 2 4
(d) 1 4 2 3

57. Which of the following State Govemnments has
started 'Pashu-Kisan Credit Card’ Scheme in year

2020 7
{a) Gujarat (b) Haryana
(c) Punjab (d) Rajasthan

58. Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R) :
Assertion (A) : Ahmedabad is the largest centre
of cotton textile industry in India
Reason (R) : Ahmedabad is located in Major

cotton growing region of India, so it has no
problem of raw materials.
Select the carrect answer from the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

59. On 27" July, 2020 Prime Minister of India virtually
inaugurated three new Indian Council of Medical
Research (ICMR) high-end testing laboratories for
COVID-18 test at which of the following places 7

(a) New Delhi, Kolkata, Chennai
(b) Kolkata, Noida, Mumbai
(c) New Delhi, Kolkata, Mumbai

(d) Chennai, Delhi, Mumbai

12-

57,

58.

59.

(a)
(&)
(€)
(d)
Preferfiga 7 8
7d’ T
(2) AT

(c) W=

ﬁawﬁarﬁ%.ﬁ:ﬁﬂ:ﬂi 1 T (A)

: TR
: ﬁw‘miﬂmﬁ@mmmm

A-AM.L}
R W w0
W ha & & D

g T BEET A TR Sy
oyt o 2020 fFm 2 7

(b) BitETT

(d) T

W o TS A I &

=2 el HiEt hi S R R
g%?f;zﬁwww'

Eéma‘rt (R) 2 =@ & 3 (R). () wd)

=] =l
(b) (A) 3% (R) &F1 ;ﬁﬂ # g (R), (A F w8

BTE] AR
(c) (A) 5 & Foreg (R) TTeTEl B
(d) (A) T & Frg (R)TE 2
27 TS, 2020 Wi % wuEE 7 Frafafea ¥ A
frm T w -1 oftem F fog &9 98 vedE
feferren argevm oftee (anddiun.am.) se=-A
il waETETS 1 aEgd: JgEed o ?
(a) 7% fewet, Hremmmar, I
(b) =T, s, HEas
() 7§ feweht, e, grad
(d) =%, Reeeht, qd

T (R) :



60. Which one of the following is the youngest

61.

62.

;Tﬂe Vision

mountain range of India 7
(a) Himadri Range (b} Aravalli Range
{c) Western Ghat {(d) Vindhya Range

Which of the following Airports in Uttar Pradesh
has been granted International Status an

24'™ June, 2020 by Union Cabinet of India ?
{a) Agra Airport

(b) Prayagraj Airport

(c) Gorakhpur Airport

(d) Kushinagar Airport

Match List — I with List — Il and select the correct
answer using the codes given below the lists :

List—1 List=1l
(National Parks) (States)
A. Indravati 1. Jharkhand
B. Mollem 2. Haryana
C. Kalesar 3. Goa
D. Betva 4. Chhattisgarh
Codes :
A B = D
(a) 4 3 2 1
(by 4 2 3 1
(c) 4 1 3 2
(d) 3 4 2 1

Which of the following countries was NOT elected
in June 2020 as a non-permanent member of
United Nations Security Council for the year
2021-22 %
{(a) Ireland
(c) Mexico

(b} Norway
(d) Canada

Which of the following are NOT commectly matched 7

(Mineral) {(Mining City)
1. Copper - Chitradurga
2. Iron ore - Ballari
3. Manganese - Bhilwara
4. Bauxite - Katni

Select the correct answer from the codes given
below.

61.

B2

Codes :
(a) 1and 2 (b) 2and 3
{c) 1and 3 (d) 2and 4

13-

63.

60. FrefRan i & Aa-d v B Fefwan v Al &7

(b) amraen A
(d) Frearaa Soft

(a) fEor Soft
(c) gfgadl a=

e wem ¥ Frfafes i & o gard @ 9T
¥ 352 v 3 245, 2020 91 I A

wipa femn 2 7
(a) AT BETS S
(b) WETHTS EaTE ET
(c) TEqy Fa13 TS
(d) Fefrm B I
gt — | @ gell — 1| & g it won Rl F
4 foi w2 @ W ISR
TR | T=H-1
(e 3mm) (w==)
A T=1ad! 1. gEms
B. "iee™ 2. gfamm
C. FeEL 3. 7=
D. S 4 BEMETE
Fe:
A B C D
(@ 4 s 2 1
) 4 2 3 1
(c) 4 1 3 2
(d) 3 TYE #E

frafafiga & & fea 23 = =d 202122 % Tom
Ty T H vitee & Sreurh wes % v 6 9
20207 TE GO E 7

(@) TS (b) 7
(CRIEER (d) =T
64. T=fofaa 4 4 $9-w af gafea a&i e 7
(af) (I TR
1. witen N
2. |IE Iu= - ELas it
3. Tt S CEIE
4, qEEEE - wEA
Hi9 723 ™ 5 A v I
e
(a) 13 2 (b) 23 3
(c) 13 3 (d) 23l 4



65,

66.

67.

68.

69.

70

;Tﬂe Vision

Consider the following statements about New
National Education Policy approved by Union
Cabinet of India on 26 July, 2020
1. It was drafted by a Committee headed by
Dr. K Kaslurirangan
2. It will replace the previous Education Policy
which has been followed since last 38
years
Select the correct statemant{s) from the codes
given below,
Codes :
{a) 1 only
(c) Both 1and 2

{b) 2only
(d) Meither 1 nor 2

Valley of Kashmir is situated between
(a) Kangara and Dhauladhar ranges

(b} Pir-Panjal and Himadri ranges

{c) Mahabharat and Dhauladhar ranges
(d) Pir-Panjal and Mahabharat ranges

Which of the following Indian States/Unlon
Teﬁrnturres launched Electric Vehicle Policy on
71" August, 2020 7
{a) Madhya Pradesh
(c) Delhi

(b) Uttar Pradesh
(d) Tamil Nadu

Consider the following tributaries of River Yamuna
and arrange them from West to East :

1. Betwa

2. Ken

3. Sindh

4. Chambal
Select the correct answer from the codes given
below.

Codes
(a) 4,3, 1and 2
fe) 3,2, 1and 4

(b} 1,2, 3and 4
(d) 2,3, 1and 4

Which of the following Indian Foundations has
received the Food Vision 2050 prize in August
20207

{2) Smile Foundation
(b) Naandi Foundation
(c) Adani Foundation
(d) Reliance Foundation

Which one of the following is NOT correctly
matched ?

os. 20 s, 2020 B TS TN o
w4

fore Afr B Wy |
et . foram AT "

Ay 1 718 1
s E:Tﬁrrﬂaaqdﬁmﬁﬁ'ﬁﬂﬁlmﬁhﬁ

&Ml
ﬁﬁﬂzﬁgaaﬁwfm*!ﬁﬁq.

Fe: (b) FE= 2
T B,
o e 2 "

B Tmaﬂtmﬁmm~mﬁhjﬁw
(b) ﬁ_waﬂ'{mq&a“mvﬁ ey
() ,mmqﬂmmﬂﬁﬁjmiﬁm
(d) - 3 AT - A 35

67, i i & il T/ 5 TR Q0 7 3005, g0
1 foreg <fe @TeR At T K

(a) HESET (b) IFE FEW
(c) Faeett (d)

68. ﬁﬁﬁﬂﬁmﬂm?ﬁﬁﬂﬁww
Eﬁqﬁmﬁﬁﬁ 3T 3R A SRR i,
1, wadn
2. %

3, Ty

4, =vEe

2 B2 7 T2 A T IW HFH |

E T

(@) 4, 3,13 2 (b) 1,2 334
(c) 3,2, 13 4 (d) 2,3, 134

Frefafa # 2 frg yrefa wEv2ee 3 20 2000

{Country) (lron-Ore
Producing Area)
(a) Kazakhstan - Karaganda
(b) Ukrain - Krivoy Rog
(c) Germany - Normendy
(d) France - Pyrenees

69.
i g fomm 2050 T s foman 7
(@) TTEE HIIvIA
(b) ] HIEIVETH
(¢) e FavEes
(d) fremas wravge
70. Frefafas 3 @ S-w1 v o wifea 782 0
(37) (Fhe—afr= 3raam &a)
(a) FIE@EM  —~  HTUEy
(b) kA -  fwEd
(c) it - A
(d) % - RS

A4-
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72.

73.

74,

75.
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First ever containership from Kolkata Port to
Agarlala was sent through which one of the
following Paorts of Bangladesh in July 2020 7

{a) Benapale

{b) Maloti

(c) Payra

(d) Chattogram (Chittagong)

Inwhich of the following regions of the world, the
production of citrus fruits is well developed ?
(a) Monsoon regions

{b) Tropical high lands regions

(c) Mediterranean regions

{d) Equatorial regions

Who among the following has been awarded with
the ‘Life Time Excellence’ Award in Earth System
Science in July 2020 by Ministry of Earth Sciences,
Government of India 7
(a) S. Suresh Babu

(b} P.L N. Raju
(¢) S. P. S. Kushwaha

{d) Ashok Sahni

Match List — I with List - Il and select the correct

answer using the codes given below the lists :
List -1 List=1l
(Tropical cyclones) (Country)

A. Baguios 1. Australia

B. Hurricanes 2. China

C. Typhoons 3. Philippines

D. Willy-Willies 4. United States

of America

Codes :
A B cC D

(a) 3 4 1 2

(b) 3 4 2 1

() 2 3 4 1

(d) 2 1 3 4

With reference to Eutrophication, which of the

following statement(s) is/are correct ?

1. It decreases dissolved oxygen of water.

2. Itis a phenomenon of nutrient enrichment
of a water body. .

Select the correct answer from the codes given

below.

Codes :

(@ 1 only (b) 2 only

T2

(c) Both 1and 2 (d) Neither 1 nor 2

A5-

73.

75.

fargm % Fretferfian szt 8 & Pt a2 e el
E{Eﬂﬁqaﬁﬂfaﬁﬁiﬁi 7

(a) WA TET
(b) TorTza=iT F==fE e

et forgr WATeTa, VT ER g Yens 2020 H
Freafifiae & & R ot woreht fgm # RS
mw-wmﬁmﬂmi?

(c) w&. 9, wa. THETE (d) HETH AEA

74 ‘@1-13%?@%—"?"11&&33%@@&1*

9 foi 7 2 @ AE I A

et - | -l
(o feamim awam) (Zm)
A. At 1. wmferan
B. &t 2. =M
0. faeh-farefia 4, g T A
L LA

A B & D
(@ 3 4 1 2
(b)y 3 4 2 1
¢y 2 3 4 1
(d) 2 1 3 4

qon () & wew § frafaten § @
-1/ 8 e g RJR 7

1;;37,13‘3% mmﬂﬁ‘-mﬁm%i

2 7 e T TS T B EeA R

912 3 T e 8wl IR

Tl

(a) T 1 (b) e 2

(c) 1 7 2 2 (d) FFAAA2
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76 Darling range is situated along which of el  wafeud & 7
following coasts of Australia ? (a) 3l -l 72
(@) North-Eastern Coast (b) elapefl 92
(B) Southern Coasl [# e
{c) Eastern Coast Ed;: aﬂ"ﬁ‘qﬁﬁr e
(d) South-Western Coast
| - fera A3l T SO & FrE
77. Arrange the following events in chronological [ 77 wafor A
order of their commencement | .l 1 L
I. Project Tiger I Sl )
Il Project Elephant Il Fr=ae Te oS-
i, Wildiife Protect Act 11, =i FET
IV Biological Diversity Act : v e fafaw 3
E;fﬁl the cormeci answer using the codes given 3 fl T EE W el I g |
@Y ) L @y L
(c) N, I, 1, Iv (d) 1 V0, (c) I, 1,11 1V BRHE R
78. Which of the following ocean currents is | 78 f=fefaa s A - MG [
associated with Indian Ccean ? A m.ﬁuﬁf. 87 by FATT Y
(@) Florida current (b} Canary current (a) B f:d}l qqmga ]
(c) Agulhas cumrent (d) Kurile current (c) HerETa Uil J
78.  The movement of nuirient elements through the 79. wE frfeufahl 7 + ﬁfm e N d bE
vanous components of an ecosystem is called el 1 AT hEci 2
(a) Bio-geo-chemical cycle (@) W= - -THAT <5
(b) Bio-geological cycle (b) A1 TH
(e} Ecological succession (c) writfeufae 3IshH
(d) a9

(d) Biological cycle

80. weft — | =t g - || & AR Fifw mon gfwi

80. Match List — [ with List - Il and select the comect
answer using the codes given below the lists - = ol M e & A I g
List - | List— Il Tt -1 -1l
(Ethnic Group) (Country) (Ferreira wgg) (Zwm)
A Jews 1. Egypt A. TEd 1. fom
B. Teda 2. Iran B. #21 2. st
C. Beja 3. Libya C. 541 3. oifaa
D. Lur 4, Israel D. &1 4. TR
Codes : '
A B C D — = A B € 0
@ 1 2 3 4 (@ 1 2 3 4
() 4 1 2 3 ) 4 1 2 3
) 4 1 3 2 ) 4 1 3 2
@ 4 3 1 2 d 4 3 1 2
81. Where was the Mitti Bachao (Save the Soil) | 81 wmaH fodt s=1371 ar=iem =El d T T 7
Movement started in India ? (3) 4T, TETT '
(a) Thane, Maharashtra :
(b) Mysare, Karnataka (b) #H1, AT
(c) Darbhanga, Bihar (c) goam, fem

(d) Hoshangabad, Madhya Pradesh (d) BRI, Hoawey



BZ.

83

B85

86

87.

88.

z'ﬂw ¥ixion

Which

magghegrj?ﬂ af the following 1s NOT correclly
{Country) i

(a) Moracco - Iﬁﬂaz[:::alj

(b) Tunisia - Tums

lc) Algena - Algiers

(d) Cape Verde —  Bamako

Without green house effect

the average
temperalure of earth surface would be
(a) 0°C (Y —18°C
(¢) 5°C (d) —20°C

FQE‘-T.I"I‘EBEEUI’Q and its adiac s

Afnca is Major producer of wn oo iy o South
minerals ? B cer of which of the fallowing
{a) Uranium

o Manganie {b) Bauxite

(d) Mica

The entire sequencn_a of communilies that
z:ﬁgssswely change in a particular ares are

(a) Ecological successign
(b} Sere

{c) Community dynamics
{d) Pyramid of biomass

Match List — | with List —11 and select the correct

ansth{e; us;ng the codes given below the lists -
ist — -

{Mountain) :rn‘.!.:sc:u n:;|r1.r}
A, Atlas 1. France/Spain
B Kalimanjaro 2. Ecuador
C. Chimbrozo 3. Tanzania
D. Pyrenees 4. Morocco
Codes :

A B C D

{a) 4 3 2 |
by 4 1 2 3
cy 2 3 4 1
(dy 1 3 4 2

Which of the following natural substances
contains iron (Fe) ?

(a) Chlorophyll

(b} Collagen
{c) Keralin

{d) Myoglobin

In Malaysia, the 'Kinta Valley' is famous for
{a) Rubber Production

(b) Tea Production

{c) Tin Production

(d) Coffee Production

g2

83.

84,

BS

88,

87.

88.

Freferfim # & #-m o 7 whfem 7 2 7

@m} (Ir=Tart)
(a) BiEFl = =1
(b) Zpifiru S
(c) stz - el
(d) 1 T2 - T

rld T i (e BTEE S%ee) oI | O -EaE
i 3G amuE 2
(a) 0°C

(b) - 18°C
(c) 5°C

(d) - 20°C

eftrof) amfver @ qreenrepl 3 T edfigadl d
fr=ferfan 8 § fam @i 1 g 37 2 7
{a]lﬁ'ﬁmﬁ (b) FTFETEL

{c) Bt (d) 3WH

HYETEl &1 QUi A AT U R e W
AN 2, FEeAral o
() TiifFufie aHn

(D) i
(c) BHEm mideh!
(d) Faam = Frafus
T | g - 1 & e i e gfi F
# f1 ™ w5e | vl I gf .
P@-l F[t&--ll
() ()
A, TFEY 1. wH/oh
B. e 2. FFIEN
C. R 3. T
qu@:ﬂa 4, HEH
ETE
A B c D
(ay 4 3 2 1
by 4 1 2 3
{c) 2 3 4 1
(dy 1 3 4 2

mﬁaﬁﬁﬁmmﬁmmﬁﬁwa}ﬁmﬂ
?

(a) FATES

H (b) FT
(o] I

(d) WA
ety o frve wrd wfng 2

(a) T ITEA % fomg

(b) ET@ TEEH & fem

(c) f&m 3mmen & form

(d) =FE=1 IR & o
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gg. Change in the base sequence within a gene 13
called
{a) Mutation (o) Eluﬂkqg
(e} Fusion (d) Breeding
go. The equator does NOT pass through which of
the following Countries 7
1. Gabon
2. Somalia
3. Equatarial Guinea
4 Rawanda
Select the correct answer using the codes given
below.
Codes :
{a) 1and 4 (b) 2and 4
(c) 2and 3 (d) 3and4
g1. Which of the following is used in fire alarm 7
(a) Phota cell (b) Water
(c) Solar cell (d) None of the above

92. Which Part of the Constitution has the provisions
for Panchayati Raj System ?
(a) IX (b) VI
{c) m (d) VA

93. Which of the following polymer is NOT a
thermoplastic ?
{a) Teflon
(c) Polystyrene

{b) Neoprene
(d) Polythene

94. When was the third tier added to Indian Federal

System ?
{a) 1990 (b) 1991
{c) 1992 (d) 1993

in human body, the digestion of protein begins in
which of the following organs 7
(a) Liver

(b) Mouth

(¢} Small intestine

95.

2g: Eﬂq%mmﬂmr{ﬁmﬂ-ﬁm!
{a}ﬁﬂﬁ'ﬂﬁq () St
(c) EAT R
90, efrfiga # @ e & A BB EA T g
e R 1
1. fet=
o Farfern
4. @8l
ﬁﬁaﬁ@aﬂﬁaﬂtiﬁul
E}E;aﬂu (b) 2 ¥R 4
(c) 2 37 3 (d) 334
91, e aran i Peffan # § B 3w e,
SR 7
(a) HrE HA (b) Wt
(c) ®r &= (d) ITF H 8 #E a8
g2 wfgum ¥ fra W H SRR TR SRR T
yraue ol 8T
(a) I1X (b} VI
{c) 1 (d)y V&
93 fefifan § & P T, TF ARSI R
(a) T (b) Frindr
(c) e (d) oirerdfi=
04, WA HETeHE SYEEdT W TG O e el T 7
(a) 1990 (b) 1991
(c) 1992 (d) 1993
95. o ik § 9 =7 ar=a Prafefiaa 0@ few am
Y B R 7
(a) a%d
(b) He
(c) B aiw
(d) ATy

(d) Stomach
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a7.

g8.

gg  Which ofthe following vitamins is mainly responsible

100.

101

z'ﬂw ¥ixion

which of the fellowing is NOT
pariament under Adicle 3 of

ta) Formation of new Statas
(b) Alteration of areas of Statesg

{¢) Alteration of boundaries of States
(d) Admission of new States

Possibla byalg
W ol
the Constitytion ",*q

Use of polished rice |n human
following diseases
(a) Rickets

(c) Goitre

diet causes

(b} Anemia
{d) Beriberi

In the removal of which of |

does the Parliament NOT ,ET;T;‘E"’;’;'F Sificiate

1. Judges of the High Coygt :

2. Judges of the Supremg Court

3. Chairman of the Unig i '

i n Public Service

4. Comptroller and Auditer General of Indig
hoose the corrn i

Eg s ectanswer from the codes given

Codes :

(a) 1and 2 only

(¢) 1.2 and 3 only

(B) 3 and 4 only
{d) 3 only

for blood coagulation in human being ?
{a) Vitamin K {b) Vitamin E
(c) Vitamin A (d) Vitamin C

The superintendence, direction and control of all
elections to the Panchayats are vested in

(a) The Governor

(b) The Election Commussion of India
(c) The Distnict Panchayat Raj Officer
(d) The State Election Commission

Consider the following statements aboul human
brain :
1. The brain is responsible for regulating the

heart beat.
2. It is responsible for balancing the body.

Select the correct answer using the codes given

below.

Codes :
(2) Only 1 is correct

(b) Only 2 is correct

97,

(

gB.

89,

100

(c) 1and 2 both are correct
(d) Neither 1 nor 2 is correct

(c) EEy

101.

96, Tnfafem i @ #9-a GfauE F 39 3 ¥ T
HeE & R w0 ave iR 7

{a) T = = MEA

(b} Tr=ai % &1 9 giEas

{c) Tr=gi = drqai | ofees

{d) 74 Tr=ai = e

R A e R g e F I 2
fr=fafan tm & s 2

(o} TEATEET

a) ¥ i
{d} =frerdy

frs B =0 qeTir ) %e § Heg $
vifte 8 et 2
1, =9 =A% A
2. =99 =g § T
3. W, T S wel AEn
4. e ¥ frgs it TEeEEiE
3 Ay g B v IR
EE&:
(a) %ae 17w 2
(c) aet 1, 2@ 3
Prerfierfian 6 & S-m o w3e 8 e 6 TH
¥ fom e 2 7

(b) ferzifom §

(@) farfim =
e) faarfim ¢ (d) Tt

T 5 e R o A Tl e o s
=7 el faewe 3 P fafem wen 2

(a) T=gTT H

(b) wia & Frafem amam A
(c) Foren vemae = s §
{mr@ﬁaﬁ'—tmf&

e i A 8 Fetas s @ R

i, -

1. wier e = Pl v o fo soed 2
gqﬁgrﬂ{%aﬂﬂaq%%llmﬁ_%l

F 23 e @ TR T AP

(b) Fas 37U 4
(d) F=t 3

F2
[a}ﬁﬁ 198 R
(b) ¥ 2 WA R
(c) 1 3T 2 31 = &
IR 1TA 2w R
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irs is NOT corraclly

[ 3
102 Vhichone af the following p

i) i _  Arlcle 263
{a) jnlerstate Council i s
{b) Finance Commission Ak
(el Administralive Tnbunal — o
{d) Unian public Service -
Commission

103 wnich of the following substances is obtained

from a tree 7
(a) Asafoetida
{c) Tincal

(b} Bitumen
(d) MNone of the above

104 Whnich Article of the Indian Canstitution describe
the Central Vigilance Commission 7

(a) Article 268 (b} Article 280
{c) Article 276 {d) MNone of the above

Given below are two statements, one is labelled as
Assertion (A) and other as Reason (R} :
Assertion (A)  Invert sugar is more sweeter than
SUCrose,
Reason (R) ' Invert sugar is obtained by the
hydrolysis of sucrose.
Select the correct answer from the codes given
below.
Codes :
{a) Both (A) and (R) are true and (R) is the
correct explanation of {(A)
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)
(c) (A)is true but (R) is false
(d) (A) s false but (R) is true

105.

Consider the following Chairpersons of the
Mational Women Commission |

1. Jayanti Patnaik

2, Mamta Sharma

3. Dr. Girija Vyas

4. Dr. Poomnima Advani

Select the carrect chronological order of their
appointment from the codes given below.
Codes :
(a) 2,1, 3and 4
(c) 1,3, 4and 2

(b} 2,3 1and 4
(d) 1,4 3and 2

102

103

104,

105.

106.

Prerferfam gl 3 & - 06 W e gy

(a) =i TR - WESER g4,
(o) Faet amam - ¥ 25
(c) waTEfIE AT - SRR 353
(d) HY o d9T JET - IR 31
it 1 & -0 verd o & wra e
(a) #m (b) frresfia

(c) HET T (d) I9F A A T 7y

e WU & WR-E AT T gy,
WA &7 w9 R 7
(b) ¥q=a2 280

(a) =g 268

(c) FA=ie 276 (d) I A A F

12 @ wus foa £, Fad A 0 TR (A my
g F FrO0 (R) FE1 @R

@ (A) @A 1 srdE T TR A ay

gt 2 |
FA0T (R) - WY TR T GERA H AA- I

e fpm AT 20
f= foa M = A " IIRY |

Emm‘mmﬁﬂﬁwm (A) 1 7R
ST Al £

(b) (A) T (R) EF1 A & 9 (R), (A) F &)
=T A8 A

() (A) W3 & 7% (R) TTed @

(d) (A) e & T (R) F ?

oty ufgen wmm % Frofafes swas @ fiamy

Hifsm

1. 9941 GEAE®

2. T gl

3. =i. ffan =g

4. 3. g sr=ar

% P o ad Fenpe AR R ™ w3
|

L T
(@2, 1,334
(c) 1,3, 432

(b) 2,3, 134
(d) 1,4, 332
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108.

108

110,

111
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patch List — 1 wWith List — || ang select

swer fram the codes give the correct
st =1 Listop oW the lists
{Metal) [Pmpurty]
A Sodium 1. Good conductar
of Elettrlcity
B, Mercury 2. Liguid at room
4 temperatyre
C. Silver . Poor conductor of
D. Lead 4. Canbe easiy mtmhuief::mfe
Codes :
A B C D
{(a) 2 3 1 4
{b) 1 4 3 2
{c) 4 2 1 3
(d) 4 1 2 3

which region of the count
status under Article 371
India ?

(a) Nagaland

(b) Hyderabad and Karnataka
(c) Maharashtra and Gujarat
(d) Ladakh

Yy conferred special
-J of the Constitution of

Which one of the following subst i
b g stances is NOT
{b} Lexan

(a) Fibroin
(c) Neoprene (d} Teflon

Which one of the

gl sl following is NOT correctly

(a) Fundamental Duties - Partiva
(b) The States =" Pait i

(c) Attorney General of India = Part XIiI
(d) Services under the -  PartXIv

Union and States

Match List — | with List — Il and select the correct
answer from the codes given below the lists -

List—| List =11
(Substance) (Use)
A, Blue Vitrial 1. Adificial rain
B. Eosin 2. Fungicide
C. Silver iodide 3. Redink
D. Zinc phosphide 4. Rodenticide
Codes :
A B C D
a 2 3 4 1
by 2 1 3 4
(¢) 2 3 1 4
(dp 2 4 1 3

107,

108

109

110.

M.

— 1 & gafee HiE e Hfaal

et | %) e
mfzﬂﬁ:@ﬂnﬂamqﬁn.

e — | T - I

(H5Tq) (TUTHH)
A H 1, famgA #1 3=a1 HAETH
B. 1 7 wui & A9 W EA
C. = 3 3uq T G
D, i@ (F2) 4 =Th A WTEH! A FE A

el £

T

A B C D
(ay 2 3 1 d
by 1 4 3 2
fc) 4 2 1 3
)y 4 1 2 3
wﬂttn;tﬁtm:[a;aﬁz—s}aaﬁ-ﬂﬁiﬁh‘&ﬂﬁ?
form & #) fogm Refd eA R MR 7
(a) AT
(b) BorHEE W FAEE
(c) HENIE Hh TATA
(d) =Tgerd
frafafen § 4 fF-w i = 5@ 2 7
(a) BIgwTEA (b) EEH
(GREERIE (d) TFH
frefefmdash-mos ad g & 2 7
(a) g5t Fd=a R VA
(b) =4 - wmvi
(c) W 1 HETATEATG] - s X
(d) 79 AR U= 6 A HAE ~ wm AWV
Tt - 1@ gE - 10 F gatea A wn gt 5

9 A M %2 & w3 g
HE - | w3t - I
(eared) (3rgm)

A, Sitem wTen 1. Ffm i

B. 3R 2. FaF

C. foeat ymaizRe 3. o= =M

D. firsh wiewRe 4. ol (DZ=ATIR)

Fe
A B C D

@ 2 3 4 1

) 2 1 3 4

€0 2 3 1 4

d 2 4 1 3
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112.  Which is the larges! Committee of the Indlan

113.

114,

115.

116.

Parliament ?
{a}) Public Account Commitiee

{b) Estimatas Committee )
{c)} Committee on Public Undertakings

{d) Commitiee on Petitions

According to the Report released by NIT| Aayog
in December 2019 on "Sustainable Development
Goals India Index 2019-20°, the UHar Pradesh is
grouped under which of the following categories ?
{a) Aspirant

(b} Performer

{c} Front runner

(d} Achiever

Which Articles of Indian Constitution are related

to citizenship ?
(a) Article 3 to 10 (b} Article 410 11
(d) Article 6 to 11

(c) Article 5 to 11

Which of the following cities of Uttar Pradesh
Is/are covered under the 'Heritage City Development
and Augmentation Yojana (HRIDAY)' ?

1. Varanasi

2. Mathura

3. Prayagraj

4. Ayodhya

Select the correct answer from the codes given
below,

Codes :
(a) 1 only (b) 3 only
(e} 1and 2 (d) 1,2, 3and 4

Given below are two statements, one is labelled

as Assertion (A) and the other as Reason (R):

Assertion (A) : The nature of Indian Political

System embodies the elements of ‘continuity and

change’,

Reason (R) : The Indian Political System

contains the elements of the following political

system such as the modern style, the traditional

style and saint style.

Select the correct answer from the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

{d) (A) is false but (R) is true

[ 12

113.

114,

118.

116.

YT |eg f "ed 7
(a) =1 = Tfafy
(b} wmFRE il

(c) &% 3Ty afafy
(d) mfwer afafy

Hfa s g femen 2019 4 :

el WA HeEwTE 201920 00 %Tﬁﬁv;ﬁ; oy
m;&mﬂﬁﬁﬁrfafaﬁwﬁﬁﬁﬁmﬁ
m 7

(a) HArHIefl (wmdiiz)

(b) 31=1 WA (qHTTw)

(c) amft (e )

(d) F1&7 St (u=far)

WRe B % 58 sz Tmfr ATy,
(8) ST IR0 (b) 3qeaz 4% 1y
(c) 3=de 54 11 (d) I =8z 69 14

Wm"ﬁ!?

1. STTort

2. Oyu
3. TGS
4, 3re
A2 fod ™ %5z | 7 I P |

Fe:
(a) &aw 1 (b) = 3
(e) 13 2 (d) 1,2, 33 4

:ﬂ%aiﬁﬁﬁ{ﬁ'ﬁﬁ,ﬁ?ﬁﬁﬁﬁlmm}m
Ut ! FROT (R) FET T #

A (A) ;A T e & TFf
ﬁmaﬁﬁaﬁq'ﬁ:aﬁﬁmﬁmﬁﬁrﬁﬁt
1 (R) ; Mreefta Tifores saaeen 4 frg ifs
FRAfera F8- s Seft, T et T b
eft & wew wonfee 2

A2 12 1 5= @ A Imogf

%.

(a) (A) 3 (R) ST & & 7 (R), (A) 1 7
T T 2

(b) (A) 3 (R) 31 &l & W= (R), (A) 5l
ST 5] AT £

(c} (A) 58t & 901 (R) Tem #

(d) (A) TeTE 2 T (R) HE B



17.

18.

0.

z'ﬂw ¥ixion

What should be Totg il
J:upulatinn in order tul r';g'é;:“? Rate (TFR) of 5

eve| of fertility 7 at the rep
(a) 1.0 v © 3 Placement
31 5 3

Which of the following m
used to estimate puug.-t.,, Ei::'“r:;:gs.'hava been

1. Head Count Ratig
2. Calorie intake

3. Household Cansum
4. Per Capita Income

Select the correct answer from

ption Expenditura

the codes given

below.

Codes :

(a) ianild 3 (b) 1,2and 3
{c) 3 only (d) 1,2, 3and 4

The Eu!:rreme Court of India enunciated the doctrine
of “Basic Structure of the Constitution” in

(a) The Golaknath Case in 1967

(b) The Keshavanand Bharati Case in 1973
(c) The Shankari Prasad Case in 1951

{(d) The Sajjan Singh Case in 1965

With reference to 'Ayushman Bharat Yojana' which

of the following statement(s) is/are comect ?

1. This Yojana provides free health insurance
of Rs. five lakh per person.

2. The expenses incurred in this Scheme
(Yojana) is shared between the Centre and
State in 60 : 40 ratio.

Select the correct answer from the codes given
below.

Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Which one of the following is NOT correctly
matched ?

118

17, 949 % afesms = a9
HA T 2 (Aous. ) g =nfi p
ta) 1.0
{c} 2.1

120.

121.

(a) Article 39 A — Equal Justice and free
legal aid
(b) Article 40 — Organisation of Village
Panchayats
i i ivil Code
Article 44 - UnlfarmIle Co B
i?;; Article 48 — Separation of Judiciary

from Executive

122.

3 o T S @

(b) 1.6
{d) 2.3

= 8 e afim ot G 96 2E
HE W g 7
{a) 10
(e} 13

119, wa & wiedh &
faftral &1 oam fm o 2% 7
1. fm e iy

2. St mem

3. miftfes Tnim =54

4. vfv =fd am

#= fod g A wd T

e
(a) 2 3 3
(¢) haet 3

e & waEts e 3 CHREYR & g g
% fagra =t ==

(a) TiETsTY =972 1967 §

(b) S Wit 312 1973

(o) 12
{d) 14

W Poafefs § 3 RR-E/

(by 1.2 ¥ 3
(d) 1,2, 31 4

(c) eRt! waTE =g 1951 1
(d) e e =g 1965 0

e deE el # Frefafes # 8

FR-1/H FUE W BfE 7

1. 72 T wha =afER 1ie S ¥ & g
wawea i TeH w8 |

9. 7@ AT 1 B0 9 o | F 3 T R
wrfterlt 60 @ 40 % I & &l 8 |

3 22 T He & 7 IO |

L T4

(a) e (b) e 2

(c) 1 3t 2 g (d) AT 178 2

frfetfige # § AT v 9 g A8 R 2

(a) FEBL QA — WIH AW W FAEH
ot waTE

(b) SgEAR 40— W SR WS

() AT 44— O A HiE

{d]aﬂ‘_’%ﬁ“'ﬂ —mﬂm
'@Tﬁﬂ“‘[
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123. The main objective of sustainable tourism is

124,

125.

126.

asa the number of tourists

fa) Toncre :
<5 scale tourism and small

(b} To manage ma

scale travel . _
(c) To manage tounsm and environment while

maintaining cultural integnty and ecological
processes
(d) None of the above

Consider the following statements in the context

of Attorney General of India |

4. The President shall appoint a perzen who
is qualified as to be appointed a Judge of
Supreme Court.

2. The Attorney General shall recewe such
remuneration as the Parliament may
determine.

Select the correct answer using the codes given

below,

Codes :

{2) Only 1 is correct
(b) Only 2 is correct
{c) Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct

With reference to the ‘"HAUSLA — 2018' which of
the following statement(s) is/are correct ?

1. ‘HAUSLA - 2018" was crganised by the
Ministry of Women and Child Development,
Government of India in New Delhi.

2. It was National Festival for Children of Child
Care Institution.

Select the correct answer from the codes given

below.

Codes ;

(a) 1 only

{c) Both 1 and 2

(b) 2 only
(d) Meither 1 nor 2

Given below are two statements, one ig labelled
as Assertion (A) and the othar as Reason (R} :
Assertion (A) : Indian federalism is called 'Quasi-
federal’,
Reason (R) : India has an independent judiciary
with power of Judicial Review.
Select the correct answer from the codes given
below.
Codes :
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(b) Bath (&) and (R) are true but (R) is not the
correct explanation of (A)
{(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

123.

124,

1235.

126.

b (FeAae) T W T i R
(a) Ttz i HEAT H o
(by w2 Fmry T THEA : aﬂﬁnﬁmqmaﬁ%

Yy AT
“mﬁmﬁg‘qu@ﬁnmmmﬁ
(d) FwirE & & s T
méﬁngmmﬂﬁﬁﬁqﬂaﬂﬂﬁﬂﬁﬂﬁaaqmw

ﬁ?ﬂm:
Feaed A % A % = 0 Bl i,
378 BT | !

E.qmmaﬂmmﬁaﬁﬁm#nn:ﬁm
e Ft |

= o 72 e @ vl I AR

T4

{a}ﬁﬁlﬁ 168 B

(b) e 2 JA 2

(c) 1 3f 2 2 @t &
(@admi1adzad 2

e - 2018' % W ¥ FrafefEd 1§ F e6-mp

wed 5 28 7 _

1. ErEEl - 2018 =1 W Afge U 4w
fasrm TaTe™, WA T gra % feee 1
o o |

2. 4R W=l H T@-TE F AR TR 7=

=l TFEE o |
o
(a) e 1 (b) Fae 2
(c) 13K 2 2F1 (d) A 132

el 21 e fed €, Fod & ek W e (A)
ga N F (R) Fel T2

YA (A) : WAy BT sTaed] & ' 3d -AdIedH
HEl AT # |

wRUI (R) : NG # Uk 903 Edies ¢ e
=fae qAfieo =1 srfuen 2 |

A9 &3 7@ e | 3 v 3w ghe

T4

(a) (A) 3R (R) 2 w8 & aflt (R), (A) 1 &
ST HT B

(b) (A) 3t (R) 21 =&t & o (R), (A) B &
=TT TE w0 A

(c) (A) & & 9%g (R) Toid 2

(d) (A) TTeTd 8 Ui (R) 61 ®



z'ﬂw ¥ixion

India aims to achievea the 5 trillia

economy by N dollgr
ey 280° (b) 2024
(c) 202 (d) 203g

Joint sitting of Lok Sabhg 5y
take place 10 resolve dead|q
(a) Ordinary Leqgislation

(b) Money Bill

{C} Canstitutional Ame ﬁdment Bill
(d) Appropriation Bill

d Rajyas

Ck over abha Can

Human Development Re
the concept of Human p
Human Development R
Multidimensional Pove

port 1997 intrgg

u
oventy Index {HPI‘jchlﬁ
€port replaced it with
rty Index (MP1) in the

yearggg
(@) 1 (b) 2005
(c) 2010 (d) 2015

which of the following gave legal basis to extra.

crdinaw powers exercised by
of India during Lockdown 7

1. Mental Health Care Act, 2017

2. Disaster Management Act, 2005
3. Enemy Property Act, 1968

4 Epidemic Diseases Act, 1897

Select the correct answer from the codes given

below.

Codes :

(@) 1.,2and 3 (b) 2,3and 4
(c) 2and 4 (d) 1,3and 4

Given below are two statements, one is labelled

35 Assertion (A) and other as Reason (R) .

Assertion (A) ; Government has launched the
‘National Infrastructure Pipeline (NIFY for period

of 2020-30.

Reason (R) : The objective of NIP is to provide

equitable access 10 infrastructure for all.

Select the correct answer using the codes given

below.

Codes : |

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) ]
correct explanation of (A)

(c) (A)is true but (R) ig false

(d) (A) is false but (R} is true

the Government

and (R) are true but (R) is not the

127,

128

129,

130.

131.

W 5 Rt sten srderaem = wen e 9
TR ® Heg T 27

{a) 2022
{c) 2025

{b) 2024
{d) 2030

Trferfign @ @ farm w nferog g7 =03 &g wies @0

U= T g A @A R 7
(2) o= R

(b) ma faiers
(c) damfas deinm fates
(d) Fafrim favs

e T e (v ) s A
forshra fefté 1997 3 wream <1 T, Sifer e forem
Toié 3 58 s smmd) i gEer (o) 2w
Freaterfian 4 & fem «d o wirentm &= fem 7
(a) 1999 (D) 2005

(e) 2010 (d) 25

refRETE % S W ST 6 g ATETIR
st = fafis amun Eratatian § 8 fm s
H W B 7

1_Ted g7 Hw wEe, 2017

2. fewee Az vez, 2005

3. T-wta @ T Wl e, 1968

4 uinefrs fasiew =, 1897

3 fed M 52 | T IWOIET )
T

{a) 1,231 3 (b) 2,33 4
(c) 2 3 4 (d) 1,33 4

ﬁﬂrwﬁhﬁ%,ﬁﬁaﬁﬁwww

TG =i (R) =RE1 T R

o (A) | T AT IR (oA HL)

HET 20 2020-30 H aafa ¥ fae smea Rem

TR |

mm}qu.a:ri.ﬂi.ﬁz‘ﬁﬂwﬁaﬁmﬁimﬁ
yeg O |

i fo T e @ €@ IR

E{A‘;'ﬂ%ﬂ (R 2w 3 (R), (A) A
=qREN Sl 8

(o) (R) T (R) & e & ueg (R), (A) 1w
ST AL Ll

() (A)F & TG (R) TR B

(d) (A) e 2 TG (R) =& &



132.

133.

134,

35.

36.
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and select the correct

Matoh List — | with List =11 30220 e lists -

[I.ﬂ-ulrsl'.icTa] (Provision)
A. Article 61 1. Removal of Deputy
' Chairman of Rajya
Sakha f
i . Impeachmant o
B. Aricle 67(b) 2 Prgsident
C. Article 94 3 Removal of Vice-
- President
D. Article 80 4. Removal of Speaker
Codes :
A B c D
(@) 2 4 3 1
(b) 3 2 4 1
(c) 2 3 4 1
(d) 4 1 3 2

With reference to the World Bank's Ease of

Doing Business Report, which of the following

statement(s) isfare comect 7

1. In Ease of Doing Business Report 2020,
India's rank is 63

2. India ranking for Ease of Doing Business in
the year 2019 was 77.

Select the correct answer using the codes given

below,

Codes :

{a) 1 only

(c) Both 1 and 2

(o) 2 only
(d) Meither 1 nor2

On which of the following dates, Constituent
Assembly of Indig adopted the National Flag ?
(g} 22 January, 1950

(b) 24 January, 1950

(c) 22 July, 1947

(d} 22 July, 1948

Limit of investment for outstanding co orate b

for Foreign Portfolio Investment ?n Urrﬁon Eud[;irg
2020-21 has baen extended upto
(@) 9% {b) 10%
(c) 12% (d)y 15%

In which of the following
Park is located in Uttar

{a) Kanpur
{c) NOIDA

places the Bio-technol
Pradesh 7 L

(b} Ghaziabad

133,

134,

(d) Lucknow

132, @_iﬂ-ﬂ'@‘”ﬁﬁﬂ%ﬁwm

135,

136.

MR I,
= - | T —n
(3F=T) ; m"_‘m;]

<e 61 - I8 T & 3g-

A, FT=ST < merr g,

B. ¥=24 67(@) 2. U W wawhygy

C. WITUT 94 3. ITUle wi mEey

D. 3 =d< 90 4, Ef=R F gz

E -

A B c D

{a) 2 4 3 1

(b) 3 2 4 1

{c) 2 3 4 1

(d)y 4 1 3 2

fava 4% AN & 3T 33 g O H w3

Fr=ferfiga == 8 & F-m/a w7 ad 3% -

1. 39 3% 537 fawa Ao 2020 8 wmm =
E3 a1 T B |

2. 99 2019 1 39 7% 330 fawra § e =

77 9 TH o1 |
A 728 7 ge & w3 gh |
L Tl
(a) e 1 (b} =Faet 2
(c) 1 3 2 =i (d) s 192

WA 1 HgW= w1 ¥ Fefafen § 0 fem R 9
T =59 &t s 7
(a) 22 s=dl, 1950
(b) 24 SHaft, 1950
(c) 22 Ses, 1947
(d) 22 =113, 1948

FI TN 2020-21 F T Iepe Hve e §
f‘ﬁ?ﬁﬁiﬁﬁiﬁﬁﬁm#?ﬁmmiﬁﬁé
(b) 10% w7

(d) 15% 7=
I 8 ARl o e i

® gl fRum & ¢
(a) FHR (b) misrmaTg
(d) *Eas

(c) Tz

(@) 9% =%
(c) 12% a%
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ch List—Iwith List — 1| and se

|‘.|1a!
er from the codes given bg

answ
List =1
(Scheme)
a P M Jan Aragya Abhiyan
g P.M. Vaya Vandan Yojana 9
c. P M Rojgar Protsahan Yojang 3:

ECt the COMract
oW the |ists

List —
{Launching Year)
1. 2018

2018

0 gwachh Bharat Abhiyan i 2211
g3

vl.'.::H:H'ﬁi B ¢ b

(a) 2 3 1 4

(c) 2 3 4 1
2 4 3 1

(d)

The Development, Monitoring an -

" ofiice, which monitors the ngres: DE;‘;:;E;E?n
policies in an attached office under i
(a) Prime Minister Office
(b) ministry of Home Affairs
c) cabinet Secretariat
(@) NIT! Aayog

i wnich one of the following is NOT g green house
gas found nalurally in the atmosphere ?
(a) Nitrogen oxide (b} Carbon dioxide
{c) Methane (d) Ozone

which of the following statements is NOT cor
for National Pension Scheme for Retail Tradr;rg}
Shopkeepare and Self-emplayed persons ?

Those wha are in age grou
i years are eligible, ge groups of 18 to 40

(b) Their annual turnover should not exceed
1.5 crore rupees.

(g) National Pension Scheme's member are
also eligible.

(d) It has a monthly minimum assured pension
of Rs. 3000.00.

With reference to the programme "NIDHI" which
of the following statement(s) isfare correct ?

1, The programme of "NIDHI" was started for
students to begin start ups.
2. Its aim is to financially support 20 students
for start up in each year.
Select the correct answer from the codes given
below.

Codes :

(a) 1 only (b) 2 only

137,

138,

139

140,

(c) Both 1 and 2 (d) Neither 1 nor 2

141.

HE - | g A et S T e
= — | == -1
(@) [oTeen =)
A, Hmn. = s sRmE 1 2015
B. oo, a9 923 4 2, 2018
C. Wl,om, T e A 3. 2017
D. =5 WA shEm 4 2014
P

A B C D
(@) 2 3 1 4
) 1 2 a3 4
g 23 4 A
dy: 2 4 3
Py, sreer st e FTATTA A QTS
fifr =1 smhem s 8, Fefafea 4 8 R

HATey o =g W R 7
(@) Ju=TET Fmfeg

(b) T’ WETEE

(c) AfEmvsw wiuae™
(d) =i Amm

Frorffian 4 @S-8 T TFEE §9 1§ aEEIsa
T 9r§ A Treh of 9 wew w AE B 7

(a) TEEH WFEEE (D) FTEA SEAEEES
(c) fird (d)

Prrfeifism § & HH -1 HaH 0 SATiE /e

3 TS SFad & e T 99E g

A HE T 2 7

(a) 18 & 40 =4 37 = 3 M IWH TH & |

(b) I ATtz SH-eA (ZAAER) T 1.5 603
g AU TR

(c) T e o % weE 36 U 2 |

(d) HF F=rid FIAT 3000.00 HT Ak TIH

gHfTaa 2 |

gﬁ--mﬁmﬁﬁﬁ:ﬁﬂm-mmm

BiE 7

1, "Fiftr S o % fag "R 39 g
forgm man & |

2. 36 Ie99 20 O F WL 379 &g W
Ty mama & 8 |

2 A ™ gz 2w I I

T2

(a) Fad (b) ¥=w 2

(¢) 1 3T 2 g (d) IMATE 2
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143.

144,

145.

146.

z'ﬂw ¥ixion

nerally, environ manf
following categories. Whic
is NOT a part of such category 7
(a) Operational Environment

{b) Physical Environment

{c) Cullural Environment

{d) Biological Environment

statements, ong is Ial:felied
f;ﬁsﬁﬁm’ ?,{? amng other as Reason {R}E-G o
Assertion (A) : The Union Budget 202 )
hae focused on Rural Development with aim
doubling farmer in-::emi. ; e ann
- The 16 Action p ]
Eeﬁgjdﬂéet is centred around agric
irmgation and rural development. .
Select the carrect answer from the codes given
below,
Codes : .
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(b) Both (A} and (R) are true but (R) is not the
correct explanation of (A)
(c) (A} is true but (R) is false
(d) [A) is false but (R} is true

gunced
ulture,

The concept of ‘Ecological Transition' was first

used by
{a) Elton {b) Bennett
(c) Berkeley (d) Ratzel

The Travel and Tourism Competitive Index (TTCI)
is released by

{a) World Bank

(b) International Monetary Fund

{c) World Economic Forum

{d) United Nations Development Pragrammg

Which of the following are the impacts of Global
Warrming 7

1. Rise in sea level

2. Melting of glaciers

3. Spread of diseases

4, Bleaching of Coral reefs
Select the correct answer using the codes given
below.
Codes :

{a2) 1, 2and 3 only (b) 2and 3only

143.

144,

(c) 1, 3and 4 only (d) 1,2, 3and 4

145.

146.

£3 & o A R & B AR T (),
@}qam(ﬁ}ﬁfﬂ : ﬁg;ﬁﬁ

A) i wEe 2020-21HF ¢
:ﬁmégggwﬁ;mmtﬁmﬁmmm mnaf%
fopan AT B | o "

R :mﬁﬁﬁﬁ"ﬁ ﬂi[éﬁill ,ﬁl‘aﬁ
e 3 wgff 5737 2 |
:ﬁ%ﬁﬁﬂ'&i&ﬁ@maﬂmiﬁﬁﬁ'{!

E?;M?ﬁﬂ (R) &1 wea & 7t (R), (A) w8
saTEr A

(b) (A) @ (R) 21 &7 & TG (R), (A) 1 &
e TE WA 8

(c) (A) B B TG (R) 7o 2

(d) {A}nﬁa%w{mm%

iR AT STHTOT T aESA W e

M

(a) Teed B
(c) =ehel T

Yt wvs tRew SfedifireTs gEehi (3849,
Frf fran < R

(a) fawa &= g0

(b) AL g‘q’l_aﬂqﬁm

(c) fra anfdls = g

(d) ag=a T faem wEEE gu

Fr=ferfiga ¥ & sh-o1 3Fes Tl (e i
HUYE E 7
1. €HE 9 o H GgAl

(b) ¥ B
(d) T3

2. femadt = faern

3. dterftat =1 e

4 vare fufe =1 fae= 2en

Té I H g A2 el g @ Hifv )
T2

(a) Faet 1,233 (b) TEw 23R 3

(c) %aw 1,334 (d) 1,2 33N 4



z'ﬂw ¥ixion

sonsider the following events
1 chronological order -

1. Establishment of NABARD
2. Self Help Group Bank Linka
3. Kisan Credit Card Pjan

4. Establishment of Regional Ry
select the correct answer from th

and aange Wi

Bank
€ Codes given

ielow.

sodes :

54,%23 (b) 4,2 3 4
Ll (d) 4,3 2, 1

rrrange the following events i
yrder and select the correct 5
sodes given below :

|. Rio Earth Summit

|I. Publication of Brundtland Commission Report
|I. Enforcement of Montreal Protocol

v. Publication of “The Limit to Growtn' Report
Codes :

N chronological-

148,

a) |, IV, 1L 1
) IV, L, 11,

(bY IV, 11, 1,1
(d) W,

with reference to the Skill India Campaign, which
of the following statement(s) is/are correct ?

1. Prime Minister had launched the Skill India
Campaign in July 2015.
The main objective of this Campaign
was to train India's Youths in information
technology.

2.

Select the correct answer from the codes given
below.

Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2only
(d) Neither 1 nor 2

The National Chambal Sanctuary does NOT fall

in which of the following States ?
(a) Uttar Pradesh (b) Madhya Pradesh
(c) Haryana (d) Rajasthan

149.

150.

147, Frafefias wemaii m fam ffm e %
FIEHATET saafiam Hifam -

1. /=TS H TR

2. T WA HYE W 4 ferhe hrdwd
3. Fram e w1 gt

4, &t amftey I ) wren

At el 1 gz @ Wt e g
Fe:

(@) 4,1,2 3 (b) 4,2, 3.1
(€)1,2,3 4 (d)y 4,3, 2.1

Preferfian wemadt = S w1 st
Hifre 7o H12 A M 5z @ 7@ ITCIEO

1. felt et forre apviter

I|. #eevE sman foqrd &1 TR

1. o= dieinTe =1 v

IV, 2 fafte 2 arg frord =1 S=EE

L -4
(a) LIV L (b) IV, I, Wi
(c) W, 1L, 1L, | (d) IV, 1, 10, 1L

e W s o sl o Fefles § & FR-/8

e w7

1. TS WA AEE ) [T FurEE |
WA 20159 6 At |

2. 38 ¥PEM = 9Ea T IRE F A H
I AT H AT S A

3 R g @ W IR L
G

(2) e (b) et 2

(c) 1 3 2 g () AAT 1T E 2

Tty s sy fFrafafed | @ e o @
frmdie ?

(a) I A (b) WEA W&

(¢) Bi=Tom (d) TedH
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